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EXAM PAPERS PRACTICE

The comect answeris Dbecause!

» Pressure = force f area. Itis the same person, so the force lweight) is the same in each situation, but the area s different.

+ The situationwith the smallest area will generate the greatest pressure.
= Standing onone foot is the situation with the smallest area.

Aizincofrect as the area is not the smallest
Bisincomrect asthe areais the largest

Cisincorrect as the area is not the smallest

The correct answer is Bbecause:

» Pressure = force /farea.
» Bizthe only example where the area is being made as small as possible

Aisincorrect as skisincrease the contact area
Cisincorrect as wider tyres increase the contact area

Disincomect as lying downincreases the contact area compared to standing on two faet.
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The cormect answer is Bbecause:

+ The base of the tank is the area needed 1o calculate the pressure the tank exerts on the table

o Theareaofthebase=10x0.5=0.5m%
Thearea raferrad 1o inthe pressure equationis thecross - sectionalarea Thisis an exampleofsuch apea.
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The comect answer is A because:

« Pressureinliguids is caused by two properties - the density and the depth of the liguid
o Distilled wateris less dense than a concentrated sugar solution since the sugar solution contains sugar
¢ Therefore for a given depth. there will be less pressure when distilled water is used
o ThiseliminatesbothCandD
+ Pressureincreases with depth
o Therefore the shallowest option from A and Bis the corect answer
+ ThisisoptionA
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The comect answer is C because:

+ Theequation tocalculaie the pressurein a liguidis:
« P=pgh=1000 x 9.8 x 0.6 = 5§80 Pa
+ This answer rounds most closely to 6000 Pa
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